Best’s Restaurant, trial balance, as of December 31, 2011, is as follows:

	
	
	Debits
	
	Credits

	Cash
	$
	2,500
	
	

	Marketable Securities
	
	5,000
	
	

	Accounts Receivable
	
	50,000
	
	

	Allowance for Doubtful Accounts
	
	
	$
	2,500

	Food Inventory
	
	7,500
	
	

	
	
	
	
	

	Prepaid Rent
	
	2,500
	
	

	Prepaid Insurance
	
	4,000
	
	

	Investments
	
	25,000
	
	

	Land
	
	40,000
	
	

	Building
	
	210,000
	
	

	
	
	
	
	

	Equipment
	
	50,000
	
	

	Accumulated Depreciation
	
	
	
	50,000

	Accounts Payable
	
	
	
	7,500

	Income Taxes Payable
	
	
	
	-0-

	Accrued Expenses
	
	
	
	12,500

	
	
	
	
	

	Dividends Payable
	
	
	
	-0-

	Long-Term Debt
	
	
	
	150,000

	Capital Stock
	
	
	
	44,500

	Paid-In Capital in Excess of Par
	
	
	
	34,000

	Retained Earning (1 / 1 / 10)
	
	
	
	30,500


Best’s 

Balance Sheet

December 31, 2011
	Assets
	
	
	
	

	
	
	
	
	

	Current Assets
	
	
	
	

	
	Cash
	$
	
	

	
	Marketable Securities
	
	
	

	
	Accounts Receivable (Net)
	
	
	

	
	Food Inventory
	
	
	

	
	Prepaid Expenses
	
	
	

	
	     Total Current Assets
	
	
	

	Investments
	
	
	
	

	
	
	
	
	

	Property and Equipment
	
	
	
	

	
	Land
	
	
	

	
	Building
	
	
	

	
	Equipment
	
	
	

	
	Less Accumulated Depreciation
	            
	  
	

	
	     Net Property and Equipment 
	
	
	

	
	
	
	
	

	Total Assets
	
	$
	
	

	
	
	
	
	

	Liabilities and Owner’s Equity
	
	
	
	

	
	
	
	
	

	Current Liabilities
	
	
	
	

	
	Accounts Payable
	$
	
	

	
	Income Taxes Payable
	
	
	

	
	Current Maturities of Long-Term Debt
	
	
	

	
	Dividends Payable
	
	
	

	
	Accrued Expenses
	
	
	

	
	     Total Current Liabilities
	
	
	

	
	
	
	
	

	Long-Term Debt
	
	
	
	

	
	
	
	
	

	Owner’s Equity
	
	
	
	

	
	Capital Stock
	
	
	

	
	Paid-in Capital in Excess of Par
	
	
	

	
	Retained Earnings
	
	
	

	
	
	
	
	

	Total  Liabilities  and  Owner’s
	Equity
	$
	
	


Calculations: 

	
	i)
	Adjustments to net income:
	
	
	

	
	
	Prepaid Rent ( in December) Expensed
	
	$
	

	
	
	Current Portion of Prepaid Insurance 
	
	
	

	
	
	Unrecorded Depreciation Expense
	
	
	

	
	
	Pretax Adjustment to Net Income
	(Additional Expenses)
	$
	


	
	ii)
	Net Income Before Tax
	=
	Revenue – Expenses – Pretax Adj. to Net Income

	
	
	
	=
	$

	
	
	
	=
	$

	
	
	
	
	

	
	iii)
	Income Tax Payable
	=
	(Tax Rate)  (Net Income)

	
	
	
	=
	

	
	
	
	=
	$

	
	
	
	
	

	
	iv)
	Net Income After Tax
	=
	Net Income  -  Income Tax Payable

	
	
	
	=
	$

	
	
	
	
	

	
	v)
	Retain Earnings (RE) Ending
	=
	RE (1/1/11)  +  NI After tax  -  dividends declared

	
	
	
	=
	$

	
	
	
	=
	$


